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And a married woman should go out with 773°%n

OVERVIEW

The X3 wanted to derive that an X"X should go out 77%¥2 mwan through
7¥°51. Our Mo0IN explains why we could think that a 7X°%> which is effective
only by an X% 0K should also be effective by a iinon 2.

nvoIn asks:
— Hpa RSNV NIN 177 1999 INDA 19V NN2D NN 799910 NIIN 99NN ON)

And if you will say; we can challenge this "' as follows: what is the
reason by a 7m3as that she is 7%°%12 78X for the MOX of PWY 712’ is merely

a 8%, and therefore it is logical that she can easily leave her relationship -
— NI XAV YIN HYNI 99NN

Can you say that by an X"X where her transgression is punishable by
death, therefore she cannot leave so easily as a 712> with 7397,

N1B0IN answers:
— 2959 9190 193 PHNY PR 'KIDIN NYPOM NYINY 1YY 1153 1Y Y

And one can say; since we find that 7391 dissolves a prohibition, there
is no reason to differentiate between a strict and lenient prohibition.

moon shows support for his view:
— *A09NNY ANNN 99) (x,00p 91 NN 199999N 123 9

' Our mwn states 027 NNMA XM APXY DX 7. This implies that 7¥°%1 is a 1°3p that removes any 7P
from the 02’ and places the woman in her own mw~. When this 7p°7 is removed there is no longer an MoK
of P n, since she was n1p herself. See following footnote # 2.

2 The 137 of n¥on accomplishes that the woman is ¥y nX 71 and therefore (automatically) there is no
MoK (of PWwH 12°). The same should apply to an WX nwX; if she receives %71 she should be nnxy nX 1P
(for we have the 1"p); once she is n¥y nX AP there is (automatically) no longer the 7nm Mo°X of X"X. The
1"p is not attempting to be 2u2an a nn°n 21’0, but rather to teach us WK °1°1p; the resulting severity or leniency
which this 7°3p removes (automatically) is of no concern to us. See 0771 (in MYWT *N772).

3 The mawn there states in the Xw™ that if a childless husband and a 773 went away and the woman who
remained was told that her husband died, she may not remarry (because she may be 012°7 7T assuming
that the 77% did not bear a child for her husband) and she may not have 212> with her brother-in-law (for
perhaps the 77% did give birth and it would be m1¥n opna R7w nX NwX). The X0°0 of the nawn states that if the
childless husband had no brothers at the time and her mother-in-law was overseas, the wife may remarry
after her husband’s death for we are not concerned that her mother-in-law gave birth to a child (which
would have caused her to be 012°2 Pp1 to this child; her husband’s brother). The question is why in the xw™
she can not have 012> because maybe her 77 did give birth, and in the X9°0 she can marry for we assume
that the mother-in-law did not give birth! The X913 initially answered that in the X" (if she would marry
her brother-in-law) there can be a n7> mMo*X (if her 77¥ gave birth), however in the X5°0 even if her mother-
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And the X773 also says something similar in n22% n>on; and since you

permitted her to marry -
— *1195 3098 99 19 *INY NOIN Y

What difference is there if she may be transgressing an 8% 212°8 or if she

is transgressing an N9 M. It is evident that we do not distinguish between more
severe and less severe 2>M0°XR. Therefore here too if 7¥°%1 can be 7°n72 (even) a less severe
M0°X it should be able to be 7°n» even a more severe MOK.

mooIn anticipates a difficulty:
— 10 NI NIAY YWIN YN N2 99N P DyD 1391 1997397 2) DY 4N

And even though we used this logic (of indeed distinguishing between 710X
T and 2P oK) previously to make a ''p, which was; and what if an

N'"'"8 whose M0°X is N3, etc., nevertheless ya7 nno» is 9°nn, then a 2> who is
only %2 should surely be 02°7 nn*na nana. It is seemingly evident from that 1"'p that the
severity of the Mo°X plays a role; why should we say here that it is irrelevant?!

mooIn responds that the two cases -
— *ntY N ONNYNY DO N DNNT INT NY

Are not similar, for there where we made the 1"'p (based on the severity of

the 2°110°X) our intent ultimately was to compare them one to another -
— ©257 1°2 Y¥AT 193 NN INNY NIMN NYN 1791927 "X

And to say that in all cases a woman is nanmn after ins» whether it is

byan nn°» or whether it is 23%7 nnon -
— MANN NN WP XY HPN NN YP9NYI 1Y PN YaN

However we cannot say that if something dissolves a »p it cannot dissolve
a "1 (for instance n¥°°1 by an X"X) -

in-law gave birth she would only be 12 an > MoK (of a P> nn2°) if she remarries. 837 there challenges
this distinction as M50 continues.

* In our texts there it reads: 121 772 XN™IRT X7 RNPNNT K77 790,

> This is referring to the X9°0 where she might be 721 the W% of P1w% 7w if her mother-in-law gave birth to
a son.

® This is referring to the X&) where she would be 721 an N7 MoX if there would be o2 (for it is an NwX
7% DIPNA ROW NX).

" The reason that in the X9°0 (of 7nnm) she is permitted to remarry is because of her In>7 nptn (that her
husband has no brothers); similarly in the X" she should be 2 for 012> because of the n°1 NP1 to her
brother-in-law (since both she and her 7% are childless). The 2n°77 npin determines her status. Therefore it
is applicable both to an > 710°X and an 70 OR, because once she is N1 NpPINA there is no longer any
T10°K. Similarly here once a woman is 7¥°212 7%y AP there is no 70K at all.

¥ The Tm*> was not based solely on the 1"p (for indeed 7% <nn P2 Por> PX), but rather it is a 1% 77, except
it was couched in terms of a 1" (to make it more acceptable). See 7"nx # 124.

? Others amend this to "9 (or 19).
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— 9NN NN TN RN 790D NNY 9N NAYTNRY
For on the contrary we will now say the opposite; the same law that
applies to the % applies to the 21m as well -
w97 59Y 192 MNY 12 HYNY PNT
for we cannot differentiate between a =vn and between a »p as I
explained.

SUMMARY
Concerning [7wX] "1°1p we cannot differentiate whether the 117 dissolves an
9171 MOX or an PP TON.

THINKING IT OVER

Why did not the X n3x phrase this 1"p (that an X"X should be 7x¥°n2 R¥Y) as
follows: If vx which is a 9p (for it is not effective by a 712°) is (nevertheless)
effective by an X"X, then it follows that 77%°511 which is a 2van (for it is more
effective than a 3 since it is effective by a 1712°), should surely be effective
by an X"X. Had the X723 used this 1"'p it would have avoided n1doIn question
that 122 12w 7n2°% 71 (since we are deriving 1%°%n from v3, and not X"X from
a ).

9 If a certain act is M7 an 9P MoK, we cannot derive that it is M7 an M MOR (or similarly if an OR
Tmn is M7 we cannot derive that an p MoK is M7 [see 2,7 NMn2°]); however here the 7%°%1 is not M7 any
MO°K; it is merely a 1°Ip by which the woman acquires herself. Once she acquires herself there are no "MK
(neither 2°%p 0> 10X nor 2> D™ NOR).

' See (TRT) X",
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